QE; sysTem ¥

B-TECH Q MOUNTS®

BT8390-VESA400F

UNIVERSAL INTERFACE ARMS
FOR USE WITHBT8390 RALLS

w
—
—
—]
(=]
=
—_
=T
=
(-]
L
==
[~=]

= e \

PARTS LIST

S

]

SO o eSSBS

e ‘\Qe%ggg%\

ITEM DESCRIPTION QTY
1 INTERFACE ARM 2
2 M8 x 55mm HEX SCREW 4
3 5AF HEX KEY 1
SCREEN FIXING KIT
A M4 x 12mm SCREW 4
B | M4x25mm SCREW 4
C | M4 x40mm SCREW 4
D | M6x16mm SCREW 4
E | M6x25mm SCREW 4
F M6 x 40mm SCREW 4
G | M8x16mm SCREW 4
H M8 x 25mm SCREW 4 ° 0 @
| M8 x 40mm SCREW 4
J MULTIWASHER 4
K | 5mm SPACER © '@ Q@
L 13mm SPACER 4
M

24mm SPACER 4 "VESA j
Designed to work in conjunction with B-Tech’s System X range o 400 o

ng www.btechavmounts.com
2




B 0
— e

BT8390-VESA400F

UNIVERSAL INTERFAGE ARMS
FOR USE WITHBTB390 RALLS

w
—
=
=)
(=]
=
—_
=T
= =
(-]
L
T
oo

PRODUCT DIMENSIONS

®8.4mm[0.33in]

(o]
FRONT VIEW D REAR VIEW D
o (o]
©8.4mm[033in] [0} @
0 0
b4 = 0

Ul =235 % E
- le| 2 2 Z2¢ B Q
& I qia g i

S E| €| € <
£ Sl g gl s o

S| g g

g " A
i g
: 5
| :

28mm [1.1in]

SIDE VIEW

11.7mm[0.46in]

140mm [5.51in]

40mm[1.57in

CONTACT:
info@btechavmounts.com

©2022 B-Tech International Design & Manufacturing Ltd. All rights reserved.
B-Tech AV Mounts is a division of B-Tech International Design & Manufacturing Ltd.
B-Tech AV Mounts and the B-Tech logo are registered trade marks.

All other brands and product names are trademarks of their respective owners.
Photographs are for illustrative purposes only. E&OE.

AMA-BT8390-VESA400F-V1.1-0122-129 MADE IN VIETNAM

ng www.btechavmounts.com

o






